EhZHLY XS
SEER 2
- — — W -— ~ = =
(=25 ICETBP YT — MESHER
2012 1. 18
1. RHMREANTEEE., BR-FERIZOWNT
O
RI1. EARSERE
N=907
[ | | 4.1
NN IZERE B 25.4 13.1
@tRtEX v
. 19.3
3D 51.3
H#h X [E] 13 .
QK Emih X &2 % 22.1 47.3
@H 5 X &0 : 23 483
4.7 | [ | I
0% 20% 40% 60% 80% 100%
B7. E5HULE mA.@3~4H8 om. #1~2H
BI. A1~3H BA. FEAETHIEL ODERE
W1 -1EE LB TR %(SA)
£k | 7.:B58LLE| 4. B3~48 | v. B1~28 | . A1~38 *. 'g\f;t\gﬁ Mm%
DNIIEERE D 907 132 141 230 248 37 119
100.0 14.6 15.5 254 27.3 4.1 13.1
@t R#HXED 907 16 43 57 151 175 465
100.0 1.8 47 6.3 16.6 19.3 51.3
Q@ KEf# X EiD 907 43 43 56 136 200 429
100.0 47 47 6.2 15.0 22.1 473
@H B X FiD 907 32 43 75 117 202 438
100.0 35 47 8.3 12.9 22.3 48.3

50

H2495 H3lloanosb5< nHas Lk



O)=:5)

DIIIIERE D

QETR#MX

i

QKA X & i

@H S X F i

0.0

M1 FhEE/ N =907
62.8
] 29.9
18.1
2 21.4
| 72.4
17.6
| 70.6
7 16.4
| 71.2
I I I
20.0 40.0 60.0 80.0

(%)

nh BH-EFE wX BV 297 8K B7 TOHORE OEEEF

WRE-288 B TR %(MA)
2tk |poamEz| B | oomw |7 OEOR| mme
DIIEEREL 907 56 570 140 271 164
100.0 6.2 62.8 15.4 29.9 18.1
QB+ RHRRED 907 7 14 57 194 657
100.0 08 15 6.3 21.4 72.4
QKT HI [E50 907 10 101 60 160 640
100.0 1.1 11.1 6.6 17.6 70.6
OHEEHEED 907 10 79 77 149 646
100.0 1.10 8.71 8.49 16.43 71.22




OF K

fI1. SARFK

N=907
58.9
@5 ER E 53
QELTR#EX
IE5pul = [18.7
| 66.5
QKEmH X &I
18.5
| 66.4
@A E X [E5D
| | | 66.5
0.0 20.0 40.0 60.0 80.0
(%)

B BEEOY. NA 8L 29— DR BEE-F—M\1 Bt BiE Y. 5 0E&RE

W 1-3FE& LB EHTEE: %(MA)
o4 | o m= $RR | v sma— ;;r'—afui' S REZ
DIIEER 5D 907 105 534 52 43 267 150 137
100.0 116 58.9 5.7 47 29.4 16.5 15.1
QOB+ RHEED 907 6 113 17 17 170 75 603
1000 0.7 12.5 1.9 1.9 18.7 8.3 66.5
QK ED 907 23 85 18 30 168 77 602
100.0 25 9.4 20 33 185 8.5 66.4
@EBHEED 907 3 98 19 23 173 80 603
100.0 0.3 10.8 2.1 25 19.1 8.8 66.5




fH 2. l(Z@Eﬂ:OL\T
DNRBEEFEESELD D

RH2. J\RF| A RRE

N=907
| . [
ONNIEERE B 54.1 135 (3.0 24.4
ETR#HEX
= ﬁﬂl: 1218 141 1537 58.4
JE3Bl ”
e
QKEmH X [E5D 13.1 13.2 17.9 7 55.8
@H &t X [ED 13.1 15.0 17.8 54.1
| | |
0% 20% 40% 60% 80% 100%
B1. EFTHD D2 EbosLtiily B3 FMETHS OERE

W2 N TEBEFRORE

LB SEHTES : %(SA)

etk |1 @HTHs | > 0 o FEess | mEE
@JIEERAD 907 491 122 73 221
100.0 54.1 135 8.0 24.4
Q=T R#XED 907 110 128 139 530
100.0 12.1 141 15.3 58.4
QK EMH X & 907 119 120 162 506
100.0 13.1 13.2 17.9 55.8
@H & XE:D 907 119 136 161 491
100.0 13.1 15.0 178 54.1




QN RABBEREICELHER

2. NAFIATHEZRLSHER

38.4

D)5 ER & 3D
N=73 oo i 17.8
) 28.8
30.2
@F+TRX 16
B8 N=139 £
S 8.6
25.3
o T
N=162 :
7 12.3
@H B X ED
N=161 : 41.0
s ] | 18.6
0.0 20.0 40.0 60.0 80.0
(%)

B7. NREETEWN

m A REHSDIE

@Y. RYBALHS @I TOi

BITETHDILBSEA LB EMTE: 06(MA)
T.égbr\éi 1. 25‘;%(\75\'} rb.b%ggu Tz
®IIIEER 2 28 23 13 21
N=73 38.4 315 17.8 28.8
QELTR#RED 42 23 52 12
N=139 30.2 16.5 374 8.6
QK Hftth X 5D 41 25 81 20
N=162 25.3 15.4 50.0 12.3
@H B X ED 36 28 66 30
N=161 22.4 17.4 41.0 18.6




R13. JIGERR OZMEIRT 5332 =T4/\REHM AT Hh

IS JIGERR A BB ZER/IRY 5231 =T1/\R%

HELES H N2007
//// 41;%// // 7.3

m1. FAETS @2 FALGZL OfEEZ

B3, JIBREORADEER T 5322 =T\ REFIALETH
LBCEHTE: %
1. FIATS |2. FIALGZL EEE
2K 467 374 66
N=907 515 41.2 7.3

4. 222 =T\ RZHATHHEEDEH

4. 22 =T\ RE=FATHHEEDEHN
N=467 (MA)

1. BLVW- 4L B -1aE 66.2

0.0 20.0 40.0 60.0 80.0
(%)

W4, OS2 =FN\REFATHIEEDE
LB EHTE: % (MA)

UM 2w o mmeE| 4 antEm | s zof | mEE
21K 309 196 9 207 34 47
N=467 66.2 42.0 1.9 443 7.3 10.1




Bl5. ASa=Ta4N\RZHATHEEDHE

RI5. 032 =T\ RZFHATHIEEDHEE

N=467
5.6
24.6 343
0% 20% 40% 60% 80% 100%
m1.B58BLULE m2. #3~4H 03. #A1~2H
=4. A1~3H B5. Thith O&EMEZ

W5 FATL5E0HEE
LB EHTE %

1. 5858k t|2. 3~48 (3. B1~28(4. B1~3H| 5. #0ith o) %
X7 26 115 160 121 8 37
N=467 5.6 246 343 25.9 1.7 7.9

6. FIAICASHLLVE S

6.3 =-T(/\AZF BT HEEDEE

67.7 6.2 15.2

0% 20% 40% 60% 80%

m1.100M @2. 150" 0O3. 200 =4. 250 ®5. 300 B6. #0ft OERZ

W6 FIAYTOEENHEE

LB EHTE: %

1. 100M 2. 150M 3. 200 4. 250/ 5. 300 6. TNtk o &
21K 316 29 71 2 5 16 28
N=467 67.7 6.2 15.2 04 1.1 3.4 6.0




7. MALEWELGERE

7. 332 =T\ REF AT DB E D ERHEF

N=467(MA)
1. FRT6EFE ~ FRTORFE
2. FRIOKFER~EFIA 67.7

3. IEFtE~F%3IELE
4. FiRIFFLE~ TR ORFLE
5. 1% 6BFLIRE
1P

0.0 20.0 40.0 60.0 80.0

(%)

7. FIAT 5560 X GHEMES
LB EHTE: % (MA)

1. FHIGEFLE|2. FHTORFEE| 3. EFME~ (4. FHRIEFE| 5. FH6EF WA
~RIOKFE | ~IEFHE | FHRIKEA | ~FREKHE LI e

EXL7 34 316 225 76 20 45

N=467 7.3 67.7 48.2 16.3 43 9.6

8. WEIEITARE

18 a3a=T4/N\REFIHTHHEDIZILLETAS

N=467
21 3.0
415 33.8 \% 15.0
4.5
0% 20% 40% 60% 80% 100%

m1. 155fE 2. 307/ 03. 457/HRE =4. 185[ERE 25 T0fh 0ERE

WR8. AT HIEEDIZLLETAS
LB EHTE %

1. 1557 fEkR | 2. 30 [ME | 3. 455)fEkE | 4. 18R 5. 0t A1

EXCN 194 158 10 21 14 70

N=467 415 33.8 2.1 4.5 3.0 15.0




9. KEf-/NEMRBDZEREIRT 521 =T1/\RZFATHH

19 KEN-/NEMXFBEDEREIRT D
A2 =TA4N\REFHFALETH,

N=907

w

_

.9

0% 20% 40% 60% 80% 100%
E1. FETS @2 FIALLZL OEERZE
W9, KEf-/NAMREDEREIRT 52T/ \REFHALEFTH
LR EHTE . %
1. FATS |2. FIALRIZL MO %
&K 522 350 35
N=907 57.6 38.6 39
5 10. FIATHEEDELZHEM
R10. OS2 =T\ REFATHEEDOEH
N=522 (MA)
|
1. B4\ B - 18 % 56.5
2. Mk
3. BE-EF
4. NHEME%
5. ZMith
4% [m] &5
0.0 20.0 40.0 60.0 80.0

W10, OS2 =T\ REFIHITZBAOEDN

(%)

LB RHTER: % (MA)

1. ﬁ%}y‘gg’* 2. @B |3 BE-E2| 4 ARER | 5 TOM | REE
21K 295 176 15 203 31 82
N=522 56.5 33.7 29 38.9 59 15.7




Bl 1. OS2 =T\ RZFHTHIEEDHEE

RN aSa=TAN\REFRATIE5E0HEE

N=522
5.6 2.9
7
20.1 27.8 ﬁ 15.3
0% 20% 40% 60% 80% 100%
m1. @58 E m2. E3~48 03. E1~2H8
=4. A1~3AH B5. FDith OERZ

W11, FIRT558DEE

LB EHTER: %

1. 5858k t|2. 3~48 (3. B1~28(4. B1~3H| 5. #0Oith O]
2k 29 105 145 148 15 80
N=522 5.6 20.1 278 28.4 2.9 15.3

f12. FAICSSHLLVEE

1233174\ REFAT HHEOHE

N=522
1.9“
63.8 57| 188 65
10 23
0% 20% 40% 60% 80% 100%

E1.100M @2. 150 ©O3.200M =E4. 250 ®@5. 300 B6. F0Ofith OEEEZ

W12, FIRYH5EDME

LR EHTER: %

1. 100M 2. 150 3. 200 4. 250 5. 300 6. TN IR
£k 333 30 98 5 10 12 34
N=522 63.8 5.7 18.8 1.0 1.9 2.3 6.5

10




13, MALEWLELERET

13, D32 =TAN\RZEFAT D5 E D ELHMT
N=522 (MA)

1. FHI6HFFLE ~ FATOKFLR
2. FRIOKFLE~ IEF A 64.4
3. EFtE~F%IME
4. Fi&IEFLE~ TR ORFLE

5. Fik6mr LIk

0.0 20.0 40.0 60.0 80.0
(%)

W13, FATHEEDEHEFR
LEE EHTE: % (MA)

1. FHI6HFEE |2, FRIOE| 3. IEFtH~ |4 FHRIFFE| 5. FR6K WA
~FRIORFR | ~IEFR | FH&R3EE | ~FR6HE VAR e
2k 46 336 263 86 14 44
N=522 8.8 64.4 50.4 16.5 2.7 8.4
14, BEITETAH
14332 =T/ RZF AT HHEDIFLLETARY
N=522
21 30
415 33.8 \% 15.0
4.5
0% 20% 40% 60% 80% 100%

m1. 157 @2 3070 08. 450 =4, 16MERE 25 20 0EEE

W14 FIRTEHEEDELLETEREY

LB EHTER %

1. 1553 fEFE | 2. 304 fEkm | 3. 45 kR | 4. 1E5REIREE| 5. T F:JEIESS
2{K 210 200 12 25 10 65
N=522 40.2 38.3 23 48 1.9 12.5




Rl 15. OS2 =T N\RIZKYSHEDSHHITEZ 5h

fH915. OS2 =T /N\RIETSNT =5,
EEREDONHBE(XIEZ BB NVETM

N=907
53.9 8.0 30.7 7.4
0% 20% 40% 60% 80% 100%
m1. #2535 @2, Mz A0 03. hhoily OEMEZ

W15, AZ2ZTANANETSN5HE . SEOHNHERTEASERNETH

LR EHTE: %
1. 825 2. 2L |3 hhnELLy o] &
£k 489 73 278 67
N=907 53.9 8.0 30.7 7.4
f 16. OS2 =TA/N\RAETEIN-HEBEDOERIZDOINT

f16. OS2 =T AN\ ADEBITSNBEDERICDOIVT

N=907
M/ / i /// i
0.0
0% 20% 40% 60% 80% 100%
B FMAERATEREENGEINE B2. FIRERBEAMABTENMINE
03. AMREPTENEINE B4. Z0ith

O&EMEZ

W16, A2 —TAN\RADPETINEEDERIZOLVTDER

TERCEHTE %
1 FmEEa |2 S s anam
meameE T ST TEAEIN | 4 tof | mEE
DIESRE N &
2K 162 563 38 0 144
N=907 17.9 62.1 4.2 0.0 15.9

12



BREEDEMN

€3 7))
B [OZEEDER
N=907
2.4
T
/ // S // //
i
0% 20% 40% 60% 80% 100%
m1. 10i%1¢ m2. 20i% ¢ 03. 30i% it D 4. 40i%C
B85. 50 B6. 60K B7. 0E/RUE ODEES
B EIZEEDEH
FE TR %
11084t | 2. 2084t | 3. 30K | 4. 408K | 5. 508K | 6. 60mK | - 7&’%’_{;{ WA
E7N 4 11 24 25 47 145 629 22
N=907 0.4 1.2 26 28 5.2 16.0 69.3 24
GiEY!
B EEEOHE
N=907
0.6 3.9
8.6 [5:204.7 21.8 45
0% 20% 40% 60% 80% 100%
Bl BEXF-REFELY @2 HH(EH) O3. §HS—rEA L)
U4 REEHE B85. 24 B6.
B7. 0Dt OFEEZE
WEZEEORE
LB ENTE %
1. gEE " o -
mma=| 2 8B® (3. BEHU—| 4 RF s P P
* %f?fﬁ 8 Moo L) mu 5. 4 6. ER 7. Z0ith 2 [0 2
21K 78 47 43 198 5 460 35 41
N=907 8.6 5.2 47 2138 0.6 50.7 3.9 45

13



(BEFL]

[ % ¥ [k H £ ¥ [EHL £ 2 [#ERLt
JBHET 6 0.7 | [/DMIIET 12 1.3 ==L:i) 13 1.4
{FEAET 13 14| [/hA 104 115| (BER 12 1.3
5 HT 4 04| [/hNEZE 16 1.8| LEHA 15 1.7
1gR 2 0.2 | |BBFN 6 0.7 | LEHMRHET 8 0.9
TR 1 0.1 | |Fr)I& 8 09| EHLLTEHE 8 0.9
BHiF 11 1.2 pues 15 1.7 | |EHEZHRE 15 1.7
B 24 26| (£H 52 57| [EEHHE 16 1.8
= BiIAT 5 06| [BHT 3 0.3 | [EPHAI 17 1.9
= A HT 1 0.1 | |KEfBRALI 18 20| |EBE% 53 5.8
AT 34 3.7 | [REMAIER 2 0.2 | [FaHT 6 0.7
EHT 6 0.7 | [KEfHET 5 06| [B/H 8 0.9
TR 5 06| | X& 42 46 | (BHEHT 11 1.2
ST 9 10| [KEEHRT 9 1.0]| [ERT 33 3.6
EET 1 0.1 | [;th_EFRHET 18 20| |ELXR 4 0.4
HE8 43 47 | ;hE 10 11| [JEZARE 9 10
[ 11 1.2 | (b3 8 0.9 | [AH 4 0.4
P 45 50| (B 9 1.0] X4+ 6 0.7
o4 T 14 15| BoHET 13 14| |FEA 12 1.3
A THT 4 04| [1248 1 01| [ERZE 44 4.9
H K EF 1 0.1 | [EXHT 22 24| |[&Et 907

14




